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Mixed Review — Fourth Six Weeks Extra Credit

Directions: Complete every question with correct work shown to receive full credit. Full credit counts as two extra credit
homework grades in the fourth six weeks.

Due Date: Wednesday, February 11, 2015

1. The scatterplot shovws the number of free throws that different basketball players attempted
and the number that each player made.

Free Throws

B0
70 -
&0
50
40 -

a0 .
0 . .
10 1

Free Throws Made
-

> X
] 10 20 20 40 S0 60 FO BO S0
Free Throws Attempted

Bazed on the trend in the data, approximately how many free throws wauld a plaver be
expected to make if he attempted &0 free throws?
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Wihich table shows the same rate of change of ¥ with respect o x as y = 4 — %x?
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A college student needs 11 classes that are worth a total of 40 credits in ardertao complete
her degree. The college offers both 4 -credit clagses and 3-credit classes. Which system of
equations can be used to determine £, the number of 4-credit classes the student can take to
complete her degree, and f, the number of 3-credit classes?

F Ff+h=4ad
qh+3F=11
G F+h=11
ah + 3F = 40
H f+h=40
4 +3h =11
J Ff+h=11
a4f + 3h = 40

The graph shows the time it took a worker to package 16 bottles of shampoo.
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The next day two worlkers packaged twice the number of bottles of shampoo in the same
arnount of time. If this new relationship is graphed on the same coordinate qrd, which
staternent is true?

A The new graph would have a y-intercept at 0.

B The new graph would be steeper than the ariginal graph.

C The new graph would be less steep than the ariginal graph.
D

The new graph would have a y-intercept at 8.

There are 156 laptops and desktop computers in a lab. There are 8 more laptops than desktop
cormputers. What is the total number of laptops in the [ab?



W hat is the value of x in the golution to the system of equations below?
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The length, in feet, of a small train at an amusement park can be modeled by the function
fic) = B¢ + 14, where cis the number of passenger cars attached to the locomotive. The
original passenger cars were replaced, and the length of the train is now modeled by the
function fic) = L2c + 14. Based on this information, which statement describes the change in
thiz situation?

F The locomotive is now 9 feet long, and the length of each pagsenger car remained the
same.

G The locomotive is now 12 feet long, and the length of each passenaer car remained the
game.

H Each passenger car iz now 9 feet long, and the length of the locomotive remained the
game.

J Each passenger car ig now 12 feet long, and the length of the locomotive remained the
game.

Two functions are given below.

fix) = —dx +1
gl = —dx +%

How does the graph of £ compare with the graph of g7¢

A The graph of £is less steep than the graph of g.
The graph of £ has the same ¥-intercept as the graph of g.

The graph of £iz parallel to the graph of 3.

o 0O m

The graph of £ iz steeper than the graph of q.



9. The table shows the functions used to determine the number of points earned every month
by reqularand elite members of a dining club who spend & dallars that month at partidpating
restadrants.

Cining Club Foints

rMem ber Points
Status Earned
Regular =54 + 100
Elite = Bd + 200

Which statement describes the difference in these situations?

F FRegular rmembers earn 3 moare points for every dollar spent and are autornatically
awarded 100 more points per month than elite members.

G Regular rmembers earn 3 mare points for every dollar spent and are autornatically
awarded 200 more points per month than elite members.

H Elite mermbers earn 3 more points far every dollar spent and are automatically awarded
100 rmoare points per month than regular members.

J Elite mernbers earn 3 more points for every dollar spent and are autormatically awarded
200 rmoare points per month than regular members.

10. Which repreaantation showsthe zame ralationship as gix) = %(Eu: + 347
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11. The slope and y-intercept of the line represented by y = %x + % are both divided by —% to

create a new line. "Which graph represents the new ling?
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12. A boy hag 380 prize tickets he wants to exchange for action figures at a prize booth. At
thiz pize booth & tickets can be exchanged for a large action figure, and ¥ tickets can be
exchanged for 2 small action figures. The boy wants 4 times as many small action figures as
large action figures. Based on this information, can the boyv get 80 small action figures?

F Mo, because he would not have enough tickets for 20 large action figures
G Yes, becausge he would still have enough tickets for 320 large action figures
H Mo, because he would not have enough tickets for 220 large action figures
J es, because he would still have enough tickets for 20 large action figures
1 . Z, =k
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14. The scatterplor shows the relationship between the distance that students traveled o get to

15.

school and the number of times those students were tardy dunng the school vear.

Cistance and Tardinass
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The principal of the school wants to use this information to help him determine if there is a
correlation between distance traveled and the number of times tardy. Which statement iz a
reasonable conclusgion that the principal could make?

A A student who travels 1.5 miles to get to school will be tardy 9 times daring the school
vear.

B A student who travels more than 3 miles to get to school will be tardy at least 7 times
during the school wear.

C There is no correlation between the distance a student travels to get to school and the
number of times the student will be tardy during the school wear.

D There is a nonlinear correlation between the distance a student travels to get to school
and the number of times the student will be tardy during the schoal wear.

The cost of staying at a hotel can be found using the function y = 12%« + %95, where x iz
the number of davs a guest stays at the hotel and ¥ is the cogtin dollars. The cost includes a
flat fee for Internet access. If the fee for Internet access is not induded, which statement is
true?

A The costis $9.95 less per day.
B The cost is $9.95 |ess.

C The costis $9.95 more per dav.
D

The cost is $9.95 more.



16. A dentist made the scatterplat below to show the number of cavities her patients had as it
relates to the number of times they flossed their teeth each week.
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Which of the following best describes the correlation for the data?

A Positive correlation C MNegative correlation

B Monlinear correlation D Mo correlation

17. wyhich of the fallowing graphs best represents a system of equations that has no solution?
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18. A painter charges $35 per hour for labor plus $40 for a ladder rental when he paints a house.

19.

20.

The customer provides the paint. The total charge to paint a customer’s house was $950.
How many hours did the painter spend painting this house?
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The graph of the quadratic function f passes through the points {(—4, 323, (3, 4), (5, L4, and
(7, 32) Which of the following shows the same relationship as #?
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Students at a school will sell hats to raise money. There are some hats [eft over from [ast

wear, and 20 boxes of hats will be ordered this wear. When the order arrives, the total number
of hatg the students will have can be determined using the function fx) = 48x + 37, where
¥ represents the number of boxes ordered. If the number of hats per box changes so that

the situation is modeled by the function A(x) = 24x + 37, then how many fewer hats will the
gtudents have available to sell it they still order 20 boxes?



